IHSAA GOLF TOURNAMENT - ELECTRONIC SCORESHEET  [BOX 1] Teams Scoring Summary [BOX 2]
Date: September 21, 2013 Boys: Place School Score
Host School Madison Consolidated Gils: X 1 Madison Consolidated 327
Course  Sunrise GC Sectional: X 2 Jennings County 390
City:  Madison Regional: T 3 South Dearborn 410
T 4 Lawrenceburg 472
5 Southwestern 481
Overall Individual Scoring Summary [BOX 3] 6 Scottshurg 491
Place Name School Score 7 Switzerland County 497
1 Amanda Detmer Madison Consolidated 75 8 Austin Inc. PURE SPIRIT. PURE SPORT.
2 Hannah Holtt Madison Consolidated 81 9 Shawe Memorial Inc.
3 Carmen Velasco Madison Consolidated 82 10
4 Devan Gabbard Austin 88 11
5 Abbi Wynn Madison Consolidated 89 12
Indicate with double asterisk (**) when playoff determines winner. 13
14
Individuals Advancing Without A Team Summary [BOX 4] 15
Place Name School Score 16
1 Devan Gabbard Austin 88 17
2 Carson Hambrick Shawe Memorial 97 ** 18
3 Kelsy Reeves Southwestern 97 ** Indicate with asterisk (*) when fifth player's score
4 Madeline Parker Scottshurg 97 determines team's place.
5
Team
Hole #| 1 2 3 6 9 Out | 10 ( 11| 12 | 13 | 14| 15| 16 | 17 | 18 In | Total Score
School Name Player Name Par 4 4 4 3 5 3 5 4 4 36 3 5 4 4 4 5 4 3 4 36 72
Austin Devan Gabbard 1 4 6 4 6 6 45 5 7 6 4 3 5 43 88
2 0 0 0
3 0 0 0
4 0 0 0
5 0 0 0 0
Jennings County Abbie Clark 1 7 4 6 3 6 3 6 6 5 46 5 6 5 5 6 6 5 4 5 47 93
Ellen Patterson 2 6 5 7 7 7 6 6 7 6 57 5 7 8 7 6 7 5 5 5 55| 112
Kassi Whitehead 3 4 4 5 4 6 3 7 6 7 46 5 5 6 5 5 6 4 4 5 45 91
Tori Whitehead 4 8 6 4 4 6 5 6 7 4 50 4 7 6 7 6 5 5 4 5 49 99
Sarah Willis 5 8 6 7 4 8 4 6 7 6 56 5 5 6 7 6 6 6 5 5 51 107 390
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